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[Participant ID
Participant Name

Test Center Name

Test Date 16/02/2021

Test Time 3:00 PM - 4:30 PM
Subject NTPC

* Note

Correct Answer will carry 1 mark per Question.
Incorrect Answer will carry 1/3 Negative mark.

1. Options shown in green color with a tick icon are correct.
2. Chosen option on the right of the question indicates the option selected by the candidate.

Q.1 e 1 37 o B, e 39T AeE SeEEdr f ARl uEedr # gUT ST 2

A X1 3T digmifErr (Biotechnology)
v 2 TATFE (Eugenics)
X 3. tiaa=fesg (Epigenetics)
X 4 FAATEFT (Genetics)

Question ID : 9489119913
Option 11D : 94891139652
Option 2 ID : 94891139650
Option 31D : 94891139651
Option 4 ID : 94891139649
Status : Answered
Chosen Option : 4




Q.2 oy, g2, ANEn, W HR 8 T F 9 2F A, B, C, D 3R E & AT 3 30 Fw 7 @ oy @
¥ F O -3 TerATET anf| H1, H2, H3, H4 3t HE X o=t 12 ¥, o sa= ot &9 & g
ST FET g1 A, H4 5T & 3T Sy a1 Y @7 7 A¢7 &1 B # T o ¢ AR H3 W HE W Ad 9« @
¥ C e & # AT HI X AR 9@ @1 81 D, H1 W =e @ § 3T Ael @ sy &7 w Ad #E,

H5 IT H2 T 7dT o1 T2 1 E 58 T=AeT @ =+ W1 32

ane K1 H2
v 2 H3
< 3 H4
< 4 H5
Question ID : 9489119301
Option 11D : 94891137202
Option 2 1D : 94891137204
Option 31D : 94891137203
Option 4 1D : 94891137201
Status : Answered
Chosen Option : 2
Q.3 T frdw FT s F, HEART &t USAFI 3t CLEANER ® SFOAFMD forar ST &, & 38 72
T F g SHAMPOO & fFm 9o forgm smeem?
Ans X 1. PPQNBIT
< 2 TMBMQPP
v 2 PPQMBIT
< 4 PQQMBIT
Question ID : 9489119276
Option 11D : 94891137104
Option 2 ID : 94891137103
Option 31D : 94891137102
Option 4 ID : 94891137101
Status : Answered
Chosen Option : 3
Q.4 #£ 2018 &, 9T TR F & F ST ST F g1 & F B0 TET S Sua A oA &
= ¥ 8 aRdm 7= 39 e gavys oe) G
s X feETEe wewr
v 2 ST
X3 I
4 Fiar
Question ID : 9489119934
Option 11D : 94891139735
Option 2 ID : 94891139736
Option 31D : 94891139733
Option 4 ID : 94891139734
Status : Answered
Chosen Option: 3




Y amwmdTRE A

e X1 FerE 2% ® (Mangus Indicus)
v 2 AT sB% (Mangifera Indica)
X 3 7Ty =f2Rr (Mangus Indica)
X 4 FHarar e ( Mangana Indica)

Question ID : 9489119916
Option 11D : 94891139662
Option 2 1D : 94891139664
Option 31D : 94891139663
Option 4 1D : 94891139661
Status : Answered
Chosen Option : 2

Q6 2011 # ST & HER, TH F W U7 F FAEE e wdr e w82
AnS 1 e wEeT

X 2. TTEdTH

Ko HEE

<4 afEer

Question ID : 9489119925
Option 11D : 94891139700
Option 2 ID : 94891139699
Option 31D : 94891139698
Option 4 1D : 94891139697
Status : Answered
Chosen Option: 2

Q.7 mmmﬁmmﬁa@waﬂ?mwmmr: 7.52 3T 9.83 ¥ T T ACTH AT

Friae|
Ans 1. 8.86
v 2 9.06
< 3 9.00
< 4 890
Question ID : 9489119669
Option 11D : 94891138675
Option 2 ID : 94891138674
Option 31D : 94891138673
Option 41D : 94891138676
Status : Answered

Chosen Option :

1




9 gew amw # AisE ISR T, Fafcaw e &% g 7

Ans o e
X2 &
R
v o e

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489119912
94891139645
94891139648
94891139647
94891139646
Answered

1

Q9 vw wEEg o & 9 7 om Bewr & wE afiged @ o #1 s wEeg e A ger o

Fra #fET
Ans
K1 74y2cm
X 2 7cm
v 743 cm
< 4 53 cm
Question ID : 9489119672
Option 11D : 94891138686
Option 2 1D : 94891138685
Option 31D : 94891138687
Option 4 1D : 94891138688
Status : Answered
Chosen Option : 2
Q.10 : ¢
feT 71T HTsT &7 AT AT FITATI
6.7, 7.2, 8.7, 9.2, 10.1
Ans  of 1. 8.38
<2 836
<3 839
X 4 8.37
Question ID : 9489119668
Option 11D : 94891138672
Option 2 1D : 94891138671
Option 31D : 94891138669
Option 4 1D : 94891138670
Status : Answered

Chosen Option : 2




Q11 2y teEnfyat $r =@t & FIT 7 0 5 ¥ AE g@dy TWend 4 h F 400 km Fr gfr T7 F E, A EA

YoEmSt & T A HfET
Ans  of 1. 140 km/h
X< 2142 km/h
#3148 km/h
#4145 km/h
Question ID : 9489119662
Option 11D : 94891138646
Option 2 ID : 94891138645
Option 31D : 94891138648
Option 4 ID : 94891138647
Status : Answered
Chosen Option : 3
Q12 ofy dusyer & afs Fot & Fg 103050 7 11 §, & F99 O AN F0T F AN A"
FifET)
Ans 1. 150
X2 10°
v 3 20°
X 4 250
Question ID : 9489119673
Option 11D : 94891138691
Option 2 ID : 94891138692
Option 31D : 94891138690
Option 4 ID : 94891138689
Status : Answered

Chosen Option :

1




B afr ane = —2 ¥ arsind FT AT AT AT

3
Ans
r R E
13
X2 V12
13
X 22
15
VK -
13
Question ID : 9489119671
Option 11D : 94891138684
Option 2 ID : 94891138681
Option 31D : 94891138682
Option 4 1D : 94891138683
Status : Answered
Chosen Option : 4
Q.14
ToHIRTH & 3TFF & FeT FT 2
Ans w g
v 1. gieFaTSe (Bauxite)
X 2 gAEEe (Haematite)
X 3. Heaerse (Magnetite)
X + Homerrse (Malachite)
Question ID : 9489119911
Option 11D : 94891139644
Option 2 ID : 94891139641
Option 31D : 94891139642
Option 4 ID : 94891139643
Status : Answered

Chosen Option :

1




Q.15 & arerr-arerT e Taet 97 fbe eS¢ ®aer Woiw 36s, 45s 3T 75s & seedr &1 OfE mur
&fther wmsd 6:20:15 &= T WY Sceidr &, of e A fhae 9or F U @Y "eeen?

Ans X1, 8:18:20

~< 2.10:30:30
v 3 6:46:30
< 4 6:40:35
Question ID : 9489119653
Option 11D : 94891138610
Option 2 1D : 94891138609
Option 31D : 94891138611
Option 4 1D : 94891138612
Status : Answered
Chosen Option: 3
Q.16 zr fiug=t & sawa &1 HGAT 4 : 3 &, T 3T g OIS 3 0 4§ 3 AR @ I
T FiEwl
Ans X116 : 3
X214 :9
v3i16:9
X412 :7
Question ID : 9489119665
Option 11D : 94891138659
Option 2 1D : 94891138657
Option 31D : 94891138658
Option 4 1D : 94891138660
Status : Answered
Chosen Option : 4
Q17 Trafafes & @ Fi=-a1 T 3o I50 TEAF (Bretton Woods institutions) =&r &2
Ans £
K 1. HESET HT P (IMF)
v o TgFT TS
X3 feg &%
X 4 g =R weErea (WTO)
Question ID : 9489119935
Option 11D : 94891139737
Option 2 1D : 94891139738
Option 31D : 94891139739
Option 4 1D : 94891139740
Status : Answered
Chosen Option : 1




Q.18 zg fypeq &1 9Ux #Y, F WEATAET 40T F g FEA (?) F TV W AT TEHAT B

2B, 4D, 7G, 12L, 19S, 30D, 43Q, ?

Ans X 1. 83X
< 2 60Z
v 3 B60H
< 4 B4S
Question ID : 9489119288
Option 11D : 94891137151
Option 2 ID : 94891137152
Option 31D : 94891137150
Option 4 ID : 94891137149
Status : Answered
Chosen Option: 3
L . : Frisw
—= sk ehl HIeA FAld |
1.4 4.7 7.10 47.50
Ans 49
o 1w
50
47
y Y
150
49
s
150
47
X4 —
50
Question ID : 9489119644
Option 11D : 94891138573
Option 2 1D : 94891138576
Option 31D : 94891138574
Option 4 1D : 94891138575
Status : Answered
Chosen Option : 4




Q20 s BT ¥ IER, IR THE & PRl of Wew w1 F Wewrw, Wew & Al F R,
f&a &1 3@l 9% Wl dowt H sEIitud @ €, O WeA IS WE @ N oivd X T gl

as 130
< 2 45
v 2 60
X 415
Question ID : 9489119929
Option 11D : 94891139714
Option 2 ID : 94891139715
Option 31D : 94891139716
Option 4 1D : 94891139713
Status : Answered
Chosen Option : 4
Q21 Ry 7w Fyd I RO FY A7 790 F & 7F anomst F @ i & wuw S R
FU:
TN AfER | 9 T & I A W, T & O & A ST g, W 3R 3
et ofr g
I{OTT :
| IR FEETT H AT & w8
II: 297 & FT AT 27 AT
Ans 3
X aer urorm | Afga &
V2 7 ar amom | AR T & gron 1| AT #
X s Fger aror || Rfea &
X 4 grom | 3T 1 g RfEa E
Question ID : 9489119283
Option 11D : 94891137129
Option 2 1D : 94891137132
Option 31D : 94891137130
Option 4 1D : 94891137131
Status : Answered
Chosen Option : 2




Q22 p xF Rt IMB IR T OHTT TN PH TE S, Mam oid & #X W, P ar Rar
%1 O F W ¥ Fr Haw §7

Ans ?{1341'359'an_=1'
Ko T &I
s T3 & T
}(4.33?[%3?{

Question ID : 9489119279
Option 11D : 94891137116
Option 2 1D : 94891137113
Option 31D : 94891137115
Option 4 ID : 94891137114
Status : Answered
Chosen Option: 3

0B FErw ot o ¥ aE Y GO A9 gENT Afsd TS ge T A ad|
A X1 gfmer e 3T (Indian National Army)
v 2 3Ter =fEar wiEs s (All India Forward Bloc)

X 3
3Ter sfEar 92f8F =aF (All India Progressive Bloc)
X 4

3o sf3ar Ererferee == (All India Socialist Bloc)

Question ID : 9489119918
Option 11D : 94891139672
Option 2 ID : 94891139670
Option 31D : 94891139669
Option 4 1D : 94891139671
Status : Answered
Chosen Option : 1




Ans
X
Il
i
v (—
3
xs. (1
(1
Xa =
=
Question ID : 9489119667
Option 11D : 94891138667
Option 2 ID : 94891138666
Option 31D : 94891138668
Option 4 ID : 94891138665
Status : Answered
Chosen Option : 2
Q25 frgay, 2020 T% WoH SN F HTAR, HRAT o6 Fearsr AF F HT i 87
Ans C
v 1. gaiT T2eAF (Igor Stimac)
X 2. 9OTH o497 (Shyam Thapa)
X 3. TRl FIeEcersa (Stephen Constantine)
X 4 IEH T (Graham Reid)
Question ID : 9489119905
Option 11D : 94891139620
Option 2 ID : 94891139619
Option 31D : 94891139618
Option 4 ID : 94891139617
Status : Answered
Chosen Option: 1
Q.26 ux faFar o T TAT H 16 FerT §= 3T 25% T A FAMET FES TF TAC H Faer Fond widr
off?
Ans  of1. 20
X215
<310
X 4 25
Question ID : 9489119658
Option 11D : 94891138630
Option 2 ID : 94891138631
Option 31D : 94891138632
Option 4 ID : 94891138629
Status : Answered
Chosen Option : 3




7 Crrafee & @ Sl g & Ted S o 2
SRRVARF C Rl o o

X 2 et o RS EFer g

Ko areds T 9T 37 3w arsds

K+ geme form R e et

Question ID :
Option 11D :
Option 2 1D :
Option 3 1D :
Option 4 1D :
Status :

Chosen Option :

9489119909
94891139633
94891139635
94891139636
94891139634
Answered

1

% R av FHEROT § X # 3TUa8 A9 AT HEw

5X1 + 6Y7 + 323 = 1471

Ans X 1.3
x27
V36
X45

Question ID :

Option 11D :

Option 21D :

Option 31D :

Option 4 1D :

Status :

Chosen Option :

9489119652
94891138605
94891138606
94891138607
94891138608
Answered

1




Q.29 e (VWPAT) T W HeliT &, Toren o s gemEt & fear s & i ww gefea e
1w F A w1 oA w ais & =en o § dede (VWPAT) S 9ot w T #m #2

Ans  of 1.
Jrer AwETEs 9y e o (Voter Verifiable Paper Audit Trail)
X2
Frfeer SRR 9uT 3f%T o (Voting Verification Paper Audit Trail)
X 3
e TR Tx 31fET & (Voting Verification Paper Audit Tally)
X 4
JreT aifest dea 3ifge & (Voter Voting Pattern Audit Tally)

Question ID : 9489119904
Option 11D : 94891139614
Option 2 1D : 94891139613
Option 3 1D : 94891139615
Option 4 ID : 94891139616
Status : Answered
Chosen Option : 4
Q.30 g
36 FHIT 48 FT AgcdH FHUIAS AT HI=T|
Ans  of 1. 12
<28
<36
X418
Question ID : 9489119647
Option 11D : 94891138587
Option 2 ID : 94891138585
Option 31D : 94891138586
Option 4 ID : 94891138588
Status : Answered
Chosen Option : 1
Q31 garer &1 R (prism) ¥ TERFT FIFA (spectrum) IToF T a1 g oTad i A?
Ans ; :
X 1. @ =g (Pierre Curie)
X 2 grer fFems (Paul Villard)
X 3. SR herfereT (Benjamin Franklin)
W 4 3NS5k =2 (Isaac Newton)
Question ID : 9489119914
Option 11D : 94891139654
Option 2 ID : 94891139656
Option 3 1D : 94891139653
Option 4 ID : 94891139655
Status : Answered
Chosen Option : 4




Q.32 i @ & 37% & FA HS W WEA 315 9T g §1 56 e gfoe & iy A W) aea

FEa 800 grfr?
Ans X1 62%
v 2 60%
<3 63%
< 4 65%
Question ID : 9489119656
Option 11D : 94891138622
Option 2 1D : 94891138621
Option 31D : 94891138624
Option 4 1D : 94891138623
Status : Answered
Chosen Option : 3
Q33 Feha, walam i v AH T §, S g&T T BT T e FH S
Ans
X 1. #Ter (Maple)
X 2 AraEnr (Eucalyptus)
Vs ﬁ?-r (Cinchona)
X 4 @ (Beech)
Question ID : 9489119915
Option 11D : 94891139658
Option 2 1D : 94891139657
Option 31D : 94891139659
Option 4 1D : 94891139660
Status : Answered
Chosen Option : 3
Q.34 x v, 3 z = Teqe & o= gy Peeer, @R @ dmsEeR £ F 9w, gt i e o fr
g @ I g, T R e e e g & o § X o T dr f afa avew A g Y
TE F TR, AT TR TR AL § X FET ¥ = § A Z 7 oaer T ¥ Z e
A A = g
Ans XK. frger
X 2 =iy
v s g
X 4 FET
Question ID : 9489119300
Option 11D : 94891137200
Option 2 ID : 94891137198
Option 31D : 94891137197
Option 4 1D : 94891137199
Status : Answered
Chosen Option: 3




@3 Mrowdr (GST) SAsd F det &, SGST & of &9 = 2
v 2
TT T3 TS WiaW ¢FH (State Goods & Service Tax)
X 2
forefa® 72w vz wfdw &5 (Systemic Goods & Service Tax)
< 3
TS [EH US WA ¢aw (Special Goods & Service Tax)

F
ﬁi}'ﬂ' GEL) Uz @faw &FF (Statutory Goods & Service Tax)

Ans

Question ID : 9489119941
Option 11D : 94891139761
Option 2 1D : 94891139763
Option 31D : 94891139762
Option 41D : 94891139764
Status : Answered
Chosen Option : 1

¥ ard T FEE & 9ger NN HeTET Fia A7
SV AR < Tt (George Yule)

X 2 3793 39 (Alfred Webb)

X 3. TAT 98T (Annie Besant)

X 4 U3 A (AO Hume)

Question ID : 9489119917

Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891139666
94891139667
94891139668
94891139665
Not Answered




QY Rrfafea & @ #la @ axdw R 8% Hr A@ifte Sy 71 o 0 aE E

Ans x1_ ﬂm ET
X 2. 7R HRTET 39 (CRR)
Vo TG T WA T (GST)

X 4 wifaftss aTerar Hgaa (SLR)

Question ID : 9489119942
Option 11D : 94891139765
Option 2 1D : 94891139768
Option 31D : 94891139766
Option 4 1D : 94891139767
Status : Answered
Chosen Option : 4
Q.38 o T = T PfET, S B ResaEe adeRr # woF few (2) F B 9T 3T ST B
3125 &1 120% - 7 =1 80% = 150
Ans 1. 3600
v 24000
<3 40
< 4 400
Question ID : 9489119655
Option 11D : 94891138620
Option 2 1D : 94891138619
Option 31D : 94891138618
Option 4 ID : 94891138617
Status : Answered
Chosen Option : 1
Q39 s AT & TSET TIRTAT ST 3ETES Sady, 2019 F F@r v ay o
Ans =
v :Flﬁéa
X 2. FrereRTar
< 3 feeeir
X 4 AeeTs
Question ID : 9489119906
Option 11D : 94891139624
Option 2 1D : 94891139622
Option 31D : 94891139623
Option 4 ID : 94891139621
Status : Answered
Chosen Option : 4




Y gefaTer S 3TTeaT AT B Tsw # g 7
e X sy g

X 2 dffeg

V5 i

X 4 FAEs

Question ID : 9489119908
Option 11D : 94891139632
Option 2 ID : 94891139629
Option 31D : 94891139630
Option 4 ID : 94891139631
Status : Answered
Chosen Option : 1

M & g ol F o v A A

15 5 25 i35 5
5 5 — = = .., = —
YT o4 2" 16" T 64’ 16

Ans 15
16
77
45
1.5
11
15
28

X2

X s

r

Question ID : 9489119287
Option 11D : 94891137147
Option 2 1D : 94891137148
Option 31D : 94891137146
Option 4 1D : 94891137145
Status : Answered
Chosen Option : 1




Q42 s TET FEW ZERT T RIS 3T e a9 & 9O TEEar i giwon #w #r g

A of 1. 26 FFaET, 1930
X 2 15 3178, 1922

X 319 f&gaT, 1930
< 4 15 3797Eg, 1930

Question ID : 9489119919
Option 11D : 94891139675
Option 2 1D : 94891139674
Option 31D : 94891139673
Option 4 1D : 94891139676
Status : Answered
Chosen Option : 4
Q.43
feT s gHAEoT g Hi=Tl
3+4+2x3 5
4+3x2+3 °
Ans 3
r
5
y i
2z
2
3
X 3.
4
h
a2
-+
Question ID : 9489119645
Option 11D : 94891138580
Option 2 1D : 94891138578
Option 31D : 94891138577
Option 4 1D : 94891138579
Status : Answered
Chosen Option : 2




O I m+n): m—-n)=7:3% aF m*+n?): (m3—nd)=?

Ans  of1.133 : 117

X217 : 133
X3 117 @ 13
<4117 : 133

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489119654
94891138615
94891138616
94891138614
94891138613
Answered

2

OB oo @ Fla @ Reen, deaat & Ru av gEea F gAA @ E2

(8, 15, 23, 120)

Ans X1 (9, 18, 27, 162)
X2 (12, 5, 17, 60)
X3 (11, 12, 23, 132)
v (7, 14, 98, 21)

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489119294
94891137176
94891137173
94891137175
94891137174
Answered

4




Q.46 vs FEeTT fee F AR AT FE FEE 15 cm 3R 8 om €, O 39 TEEW oW F 34 w7 &y

Furs o geir?
Ans ) 1
v 1 7—cm
17
X272
- —= CIn
15
/31— cm
17
X4 7= cm
17
Question ID : 9489119664
Option 11D : 94891138655
Option 2 ID : 94891138653
Option 31D : 94891138654
Option 4 ID : 94891138656
Status : Answered
Chosen Option : 4
Q.47 fy G 95g o #U 7Ew, 3EF BT qoT F 40% ¥, O SEH RET Hpd, $HF F Hpd T hae
sfaa grem?
ans K1 175%
v 2 250%
X 3. 200%
< 4 150%
Question ID : 9489119659
Option 11D : 94891138636
Option 2 ID : 94891138633
Option 31D : 94891138634
Option 4 ID : 94891138635
Status : Answered
Chosen Option : 4
Q.48 . 3
errer gag Aae@a 7 o Bw a9 & g 22
Ans ,
- esa
<2 aFEa
K3 IeEs
A4 FoTer
Question ID : 9489119922
Option 11D : 94891139687
Option 2 ID : 94891139686
Option 31D : 94891139685
Option 4 1D : 94891139688
Status : Answered
Chosen Option : 3




Q4 B F ¥ oW IR Stefedr Fw (IT) & T9F Tger TR a1 amr ar?

K A, FAR
v 2 HGHRE, TETR
X o TS, Ree
K 4 EHES, SIS

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489119930
94891139717
94891139718
94891139719
94891139720
Answered

1

Q.50 mﬁam@mﬁmwmwmﬁaﬁmﬁmwﬁ
9 +3=15 =5 +8 =2

Ans x 1, 9
K2 % +
x 3. kg
« 4. i, =
Question ID : 9489119295
Option 11D : 94891137179
Option 21D : 94891137180
Option 31D : 94891137177
Option 41D : 94891137178
Status : Answered
Chosen Option : 2
Q51 g v RfERe, TR e R e Ry PeRe F @ B wes 3 33 9
Ans x 7 ﬁ* ﬂ
v 2. Tgrara wrifere Rufess warifees
X 3. AFaT 9T e
X 4 fgg anfere afeasa waif@ves
Question ID : 9489119920
Option 11D : 94891139679
Option 2 ID : 94891139678
Option 31D : 94891139677
Option 4 ID : 94891139680
Status : Answered
Chosen Option: 1




Q.52 34,500 Fr v=ARY W 12% TEF g =0 H T & 2 99 3N 8 A H 39 F Teug 9
e (2 &) A9 fifsw

Ans X 1. 26,095.95
< 2 36,069.38
v 3 26,096.38
< 4 36,097.28

Question ID : 9489119657
Option 11D : 94891138628
Option 2 ID : 94891138625
Option 3 ID : 94891138627
Option 4 1D : 94891138626
Status : Answered
Chosen Option: 3
Q.53 ader, 2019 # et 36 g Tae FE=dr (FRS) % 0 I et awlr qgel s Afgar w4
Ans . oy '
v ST IETEEIT e
X 2 =1 gfexr fagem
X3 TE aiEE
X 4 fT0T ASHER o
Question ID : 9489119907
Option 11D : 94891139627
Option 2 1D : 94891139626
Option 31D : 94891139628
Option 4 1D : 94891139625
Status : Answered
Chosen Option: 1
Q.54 v ¥5EF 3 s § 2 AN I 1 GET 95EA 7 s # 5 AN w9 §1 A ST I5EA T WY a5 Y&
FL, @ T 1 min #§ BraeT IR UF TTY g2
Ans  of 1. 2
X2 4
<33
K45
Question ID : 9489119651
Option 11D : 94891138603
Option 2 1D : 94891138604
Option 31D : 94891138601
Option 4 1D : 94891138602
Status : Answered
Chosen Option : 2




Q.55 A 3R B uw @y Fee Bl #1810 A F W @ €1 B MY C uw wy e =@ e
FERFE AR T ANRCE TRl am R s AR ma 1A B

AR C v mryr e o w1 w e e F aw s

s X7 =
X210 e
X3 8 fes
v 9 e
Question ID : 9489119661
Option 11D : 94891138644
Option 2 1D : 94891138643
Option 31D : 94891138641
Option 4 1D : 94891138642
Status : Answered
Chosen Option : 4
Q.56 i ¢ :
SHeT 9a India@solu.edu #, ‘India’ gl
Ans x
. OTHES
X2 @R A"
X3 BT &F
v i TSR A
Question ID : 9489119936
Option 11D : 94891139743
Option 2 ID : 94891139742
Option 31D : 94891139744
Option 4 ID : 94891139741
Status : Answered
Chosen Option : 2
Q.57 o 7v Bt § T 37 TE F TT7 F, S SeraraEd AT F ved BEa (?) F TS WA Tedr
gl
B, T 14,538, 7
ans X 1.117
v 2103
X3 101
<4 99
Question ID : 9489119286
Option 11D : 94891137143
Option 2 1D : 94891137144
Option 31D : 94891137142
Option 4 1D : 94891137141
Status : Answered

Chosen Option : 1




Q58 Rrofafea & ¥ #la-ar giredw ofitada AEaave siifhy & e a8 2

Ans

X g

X 2 9eR wase
X 5 e

v TERT A

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489119937
94891139745
94891139748
94891139747
94891139746
Answered

2

Q.59 fr=fafee # @ #iw vfiw ‘Fee-odl-ag 7o #FcA! & a9 967 & FHel & F v 9

e XL e wIE
S
v 2. FIET AT Agw
X s ggrfdr daRdar
X 4 HET @
Question ID : 9489119921
Option 11D : 94891139682
Option 2 ID : 94891139684
Option 31D : 94891139681
Option 4 1D : 94891139683
Status : Answered
Chosen Option: 1
Q.60 @ vgel AN B SIRAT HEUAA A T AW 9 USAT e Bedrr o
Ans

/<115 3ETE, 1947
v 2. 15 3ETET, 1974
< 3. 15 &g, 1977
/< 4 15 39718, 1950

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489119928
94891139709
94891139711
94891139712
94891139710
Answered

1




Q.61 =T & ¥ FF Reey & weiila AP o#T J97 09 58% T=7 & I35 gafod = 2

Ans

v . FAuFRH - FAes (Kalpakkam - Karnataka)

X 2. FRIER - T ( Kakrapar - Gujarat)
X 3. TEAGeH - dAe=s (Kudankulam - Tamil Nadu)
X 4 M - FACH (Kaiga - Karnataka)

Question ID : 9489119931
Option 11D : 94891139723
Option 2 ID : 94891139724
Option 31D : 94891139721
Option 4 ID : 94891139722
Status : Answered
Chosen Option : 3
Q62 e T TR N s F R aomt s T s @ 7w & AR
hefed.
ofE 9 T FAuAr # g FE e ¢, df A W AT F@Iar A0
IO
l: #9T EET ¥ 99 ¥ B At #7 9w #E OF Y g B
= -
II: ¢fser T aiett & gRam & v g
Ans
X 1. F ar gror | 3T 7 & garon || @feT g
X 2 grom | 3T 1 g Rfga d
v Fge aror | R
X 4 Fger aror || AT &
Question ID : 9489119281
Option 11D : 94891137124
Option 2 1D : 94891137123
Option 31D : 94891137121
Option 4 1D : 94891137122
Status : Not Answered
Chosen Option : --




Q.63 ‘Tz drmE S WH FUR W TEAE F Tomr &, A’ R i st fr Swwdr 9 HeE
9T GITH LTS I ATl H9eT S HSar BT ¥ 30 s9H ¥ hEe wv F 9 G smar @7

Ans X 1. A3WT (Grayware)
X 2 AraEa (Malware)
X 3. T (Adware)

v 4 TIIEEEY (Spyware)

Question ID : 9489119938
Option 11D : 94891139751
Option 2 ID : 94891139749
Option 31D : 94891139750
Option 4 ID : 94891139752
Status : Answered
Chosen Option : 2

Q64 ¥ 2016 #F TRE TR SART AT f3aT 12T A1 (e-NAM) a7 &7
o R e ¥ BTt saeeiiaE A
X 2. UF TSET FoIFelielr ST F AT

X 3
g giaserEr & ATAT & AT v soeiiae geieRoT

X 4 gaAy TfaEEEr & B s T 9

Question ID : 9489119943
Option 11D : 94891139771
Option 2 ID : 94891139769
Option 31D : 94891139770
Option 4 ID : 94891139772
Status : Not Answered
Chosen Option : --

Q65 Zfr cos8 —cosa ¥, A 0 FT FHTT AT (general solution) 7T FfTI
Ane K1 8= ?ia,nez

<20 =nmn+ a,neZ

W3 8=2nm+ aneZ

X 4 B=Z—“+a,ne2

Question ID : 9489119670
Option 11D : 94891138680
Option 2 ID : 94891138677
Option 31D : 94891138679
Option 4 1D : 94891138678
Status : Answered
Chosen Option : 1




0 Rrw av AT F g AT

V12321 x /7 =13431
Ans 1. 14631

< 2. 14541

V'3 14841

x4 14621

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

9489119648
94891138589
94891138591
94891138590
94891138592
Answered

1

Vo ¥ P T AR AR TR Hehiew F ALY 87

Ans x-lm
X2
X 3. ZfRoT ey
v o fgaTeT

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489119932
94891139728
94891139726
94891139725
94891139727
Answered

2




Q.68 faw 1w Fydl AR fFrewst # wEEE T FUA J G T AFEN FOFA AGS g AR F, 67 &
Tg TAEEE: AE A @ Bed gdE g g # A F s @ S § Teey g @ § sy

Ans

FT AT T 27

EX EN

wh T e | go U § A Oy @) A R

e

1. 3T @2 7 3§
2. T I FE A £

Xigar1 iR a &2 a2 g
v 2 Faer TSy 2 9ol AT #
X 3 Faer ASHY 1 U FIaT &
X4 sy 1 3R 2 at g = E

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

9489119275

94891137100
94891137098
94891137097
94891137099
Not Answered

Q.69 gez o TEmat F ¥ 7 B e F T § AR v s ¥ e W oTaa i

Ans

<121
< 2 65
V3. 105
<4143

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489119293
94891137172
94891137171
94891137170
94891137169
Answered

2




O BT & T FiF O TEuT =T E

Ans o 1. 817
<2 811
<3 313
X 4 317
Question ID : 9489119649
Option 11D : 94891138594
Option 2 ID : 94891138595
Option 3 ID : 94891138593
Option 4 ID : 94891138596
Status : Answered
Chosen Option: 2
Q.71 :
Rrear §% H7AT T T IreT TEEAT FaT ST B
Ans x * :
1. HAERT q@ﬁ
v o e T3
X 3. HITEr TETe
X 4 Tharge T3
Question ID : 9489119923
Option 11D : 94891139691
Option 21D : 94891139689
Option 31D : 94891139690
Option 4 1D : 94891139692
Status : Answered
Chosen Option : 2
Q72 Crafafee & & FF-8 MER G0 3T T ®F F oo WO § gsaa 82
Ans X ey
X 2 TATETH
v 3 FUF
X 4 AfgEs
Question ID : 9489119910
Option 11D : 94891139638
Option 2 ID : 94891139637
Option 31D : 94891139639
Option 4 1D : 94891139640
Status : Answered
Chosen Option: 2




Q.73 USDA % 3=[@R, a¥ 2019-20 # 3c9es % HUR W Sraiae # § Fia-ar 3o feg & o= &

FIY §9T 3eIEF &7

Ans X1- gﬁ

X 2 8
EE i
X 4w
Question ID : 9489119924
Option 11D : 94891139693
Option 2 ID : 94891139696
Option 31D : 94891139695
Option 4 ID : 94891139694
Status : Answered
Chosen Option : 1
Q.74 _— e ——
3.26 — 2.14 + 1.33 ST TIT A AT
A 1245
<2 255
X3 225
<4215
Question ID : 9489119646
Option 11D : 94891138581
Option 2 ID : 94891138583
Option 31D : 94891138584
Option 4 1D : 94891138582
Status : Answered
Chosen Option : 1
Q75 gremor e F AR & W FE ORI 8 Fst F T & I T @ A
ans X1, 20%
< 2 35%
V' 25%
X 4 30%
Question ID : 9489119660
Option 11D : 94891138637
Option 2 ID : 94891138640
Option 31D : 94891138638
Option 4 ID : 94891138639
Status : Answered

Chosen Option :

1




7y A Fua Rw v §
1. =it 7= AR §
2. FS AT TF FE B
Fraof@e 7 o =7 ¥ By @@ &2
A. Tl e e 2

B. F1$ I[eART TATH AL 2
ans X1 e A

X2 A 3 B 3=t

XagrarAar B

v FIT B

Question ID : 9489119297
Option 11D : 94891137187
Option 2 ID : 94891137185
Option 31D : 94891137186
Option 4 ID : 94891137188
Status : Not Answered
Chosen Option : -

Q.77 = goe = & =, R sefFew i @ 35% R ¥ A safPew o o U HOw gl aw e &
3 h 45 min & TAT T ¥, S g9 ¢ H 9 gl o0 w & e @Aw o

Ans x 2
(N =
9
_ T
X 212-h
9
_ 5
X<32-h
9

7
v42_n
9

Question ID : 9489119663
Option 11D : 94891138650
Option 21D : 94891138651
Option 31D : 94891138652
Option 4 1D : 94891138649
Status : Answered
Chosen Option: 3




Q.78  ofrepreiter atefes, 2022 F7 M= s ¥ FE o & B smer forifa By mar &2

Ans
# 1. TaEr (Annecy)
v 2. TS (Beijing)
X s Fg=@ (Munich)
X 4 FOIT (Sapporo)
Question ID : 9489119926
Option 11D : 94891139703
Option 2 1D : 94891139701
Option 3 1D : 94891139702
Option 4 ID : 94891139704
Status : Answered
Chosen Option : 2
Q.79 1 1
a(x +2)=7 & ar (x-2) ¥ TTeT B
ans X1 5y
v 2 345
X3 5
X 4 24/5
Question ID : 9489119666
Option 11D : 94891138661
Option 2 1D : 94891138664
Option 31D : 94891138663
Option 4 1D : 94891138662
Status : Answered
Chosen Option : 2
Q.80 fawr faelw %= smwT F, COCKROACH # CPENVRCDH 3 SCOOTER # SDQRVFR far@r =T #i
3T FT o9 & 2eg MESMERIZE &7 58 wR o =meem?
Ans X1 MFUPIJKAE
< 2. MFUPIURAE
< 3. MFJPIUKAE
v+ MFUPIUKAE
Question ID : 9489119277
Option 11D : 94891137105
Option 2 ID : 94891137108
Option 31D : 94891137106
Option 4 ID : 94891137107
Status : Answered
Chosen Option : 2




Q.81 S [ F W ET FeHE AR TR F FRAET 9T ¥ W g3 § AR 0w AR Merady A& &
7o fTedl # § gt TR §7

e X T STAETT-3
X 2 TSE FEHTT-2
v o T8 SeATE-4
X 4 TSEA FAAAT-1

Question ID
Option 1 ID
Option 2 ID

Option 4 ID
Status

1 9489119940

194891139758
1 94891139759
Option 31D :

94891139757

: 94891139760
: Answered
Chosen Option :

2

Q.82 s v % forw el gamr ‘wufed & HRSR (Right to Property) #r #ifor st $r =
& ger femm @ ar

Ans x 1 423?
X2 48T

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489119927
94891139705
94891139708
94891139707
94891139706
Answered

2




08 v aTv e F g AT

Ans

3 + +/5

3—+5 +5-1

+
3 — 45

+ =2
3++v5 V5 +1

v 17— /5

2

x 2 16 —

&

V5

x5 13— +/5

2

o 15 —

7,

V5

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489119650

94891138598
94891138600
94891138599
94891138597
Not Answered

O ¥ i W wgE T ¥ dEeE werdt # ¥ ad ¥

Ans

v 5
X2 ww
X< 3 JUHT
X o T

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489119933
94891139730
94891139729
94891139731
94891139732
Answered

3




S ST § ¥ FF-AT ARa F G 37 aofeas 3% 2
eV e v i

X2 o &%

X 3 gE AT

K o TEEITSEETY

Question ID : 9489119939
Option 11D : 94891139754
Option 2 1D : 94891139756
Option 31D : 94891139755
Option 4 1D : 94891139753
Status : Answered
Chosen Option: 1

Q86 mfy w FHT % &, + AT+ §, o wmaT v Far e T AT 24 +6+2-9 x4
A AT ST

Ans o110
X2 24
<38
X4 -8

Question ID : 9489119289
Option 11D : 94891137156
Option 2 ID : 94891137153
Option 31D : 94891137154
Option 4 ID : 94891137155
Status : Not Answered
Chosen Option : --

Q.87 R=fr, =fas ¢ &1 &1 =aw, ¥97 T 77 £ 3w, T A T ¥ o, g A e e o
FiA oo F FEY o £

Ans X 1. 3T
X 2 farafy
X3 s
v HAET

Question ID : 9489119290

Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :

94891137159
94891137160
94891137157
94891137158
Answered

1




Q.88 faw av faweul F ¥ 3@ FEAT = TTA Hi, S farafeatEa ot F weAfEa (7) F wWE W I gear

gl

30, 42, 56, 72, ?

Ans 1 29
X 2 81
X 3100
v 4 90

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489119291

94891137162
94891137163
94891137164
94891137161
Not Answered

Q8 wirxsmfis Xsiram@mh R UAREfatsdivaa et T v, U & da= &

PQ@rartsity XA d TH S & aar gau 37

Ans w
VA F ASH T

X2 A & A=
3.

Ko rar & a8 & o9

K 4 SIS
Question ID : 9489119292
Option 11D : 94891137167
Option 21D : 94891137166
Option 31D : 94891137165
Option 41D : 94891137168

Status : Not Answered
Chosen Option : --
Q.90 37 3pr w1 a7 ST, 5 AT S0 F 997 REa (7) F TUE W A T B
0 s 1) o
ans X1 U

v W

K3V

X4 X
Question ID : 9489119274
Option 11D : 94891137094
Option 2 1D : 94891137095
Option 31D : 94891137093
Option 4 1D : 94891137096

Status : Answered
Chosen Option : 4




Q91 AT HTF A= e WaT W M AT F FE H AT G A G 5 £ G, A F A Hw
PFcor A WA DFeE iR dM e W asT g Ak B S ducraa s §i C, B =
e S S EdR Fe @ S d R T FAND 7 owcaa mer a&f 81 C, G

Ans

=1 frwean TS g1 F & 1% 3R g T W &I &5 37
X1D

X 2
X 3
Y &

» T G

Question ID :
Option 11D :
Option 21D :

Option 31D :
Option 41D :
Status:

Chosen Option :

9489119299

94891137196
94891137195
94891137194
94891137193
Not Answered

Q.92 Ry =17 Fue oT AN Y A 50 & & o2 anomst F ¥ Fi9 @ wuw & PR P

Ans

A
T ¥ BaEar ¥ 59 AfFw, s & s gl i 3= an

YUY :

|: MTHAIT 9T &FT 3= WA Rty o e F 98 BEEaT § 99 796 w7 2

II: el ofr foredr &1 off Tranfores fewfa & @ o g
X7 ar gror | 3R 7 & aron || =T 7
X 2 grrom | 3T 1l @ R d

X 3 e uror || =g

v g aror | AfEE §

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status :

Chosen Option :

9489119282

94891137128
94891137127
94891137126
94891137125
Not Answered




Q.93 few 1w Fydl AR Frewst F wEEE ) FHA J G T TGS F AR AGS g AR F, 6

Ans

Tg WA A T2 @ Bed wda @ & i A & s @ Fie § Teey g & § wee
F U T 27

HUA:

FC T AoF ALl 6] T AdE FHN ¢l F§ 8T FAHR FGIN AE gl
o

1. TC T FAEE

2. 3T Adw IR & E

3. IO THE SER F

X1 Faer AshY 1 9ol FIar &
V' Fad ey 2 grad AT 2
X3 fFspy 1 3R 3 S oo WS &
X4 sy 2 3R 3 S A WS §

Question ID : 9489119280
Option 11D : 94891137117
Option 21D : 94891137118
Option 31D : 94891137120
Option 4 1D : 94891137119
Status : Not Answered
Chosen Option : --
Q.94 37 RpeT @ TUT F, S FHEASAT AT F woF RES (?) F TS W AT GFAT B
Z5LW, W70Y, TERB, Q11UF, ?
Ans X 1. N15ZK
< 2 N13XJ
X s N15YK
v 4 N13XK
Question ID : 9489119285
Option 11D : 94891137139
Option 2 ID : 94891137137
Option 31D : 94891137140
Option 41D : 94891137138
Status : Not Answered

Chosen Option :




Q95 mw=f@Ea P, QR S T, U VamwWw iR - 39 sider 7= i, #ag, o8, gewmarg, =i,
U, S T g S % § (S0 A 5 36 w5 A @) #F of & swfeast w1 9ew we |A e
FE &1 R FMar =1 @ g1V REe, #8 @r oore 7d 7 W@ g1 S @ T FAw g g Wt o @ E

P @ Q Y= o1 Has 7@ o @ g1 U el o Haw A 5 @ g
T & Fi9 O oo Wheg w9 8 w6 B

ae X Q - Rt
X2 p - s

(3.W-H;ﬁé'

K4 W - et

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status:

Chosen Option :

9489119303

94891137210
94891137209
94891137211
94891137212
Not Answered

Q.96 few arv ferert F 3@ FEw w1 T Fiw, Twer o= Tew @ 98 ey § S g s ohi s
T FAW Tger AT SEY T B

RS M8tE 435220 =

Ans X1,
v
X 3
y 8

57
Fi
35
56

52

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489119278

94891137112
94891137110
94891137109
94891137111
Not Answered




7 e @ wua BT e §

Ans

1. @shr 3T gaw E

2. $o AfFEaT FIT E
frafafEe & @ o7 & foread w8 §2
A. &5 o FeEr = a8 &

B. ¥ aAfegar 33 B
vigrarAarB

X2 A AR B et

X3 Fad B
Xegar AT TEB

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :

Status:

9489119296

94891137182
94891137181
94891137184
94891137183
Not Answered

Chosen Option : --




%y @ Fua e o

1. Tl ol oL 21
2. welr goge o B
3. HeT gogel == &l

Fef@a 7 ¥ sl ¥ @y @gr &7

A. FT oo #TS 2|

B. ¥ oA a= &l
C. 3T = gre ¢
D. T gegel o= 6T g1

Ans x 1.

Fad B

X 2 gsfr
K3 Faar C
v FFer A

Question ID :
Option 11D :
Option2 1D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489119298

94891137192
94891137190
94891137191
94891137189
Not Answered

Q.99 A B, C. D E3RF oF T I O a=x §1 A 3R B 15 a30 @ ¢ 3K 3w 0= g=w & § 3w
F fuia, D dk F & 81 A € 3R D =% & =ofs & & #i7 @t 9 eow ¥ o & a9

é’"

Ans X1,
X 2
v &3
F

B

D
F
E

Question ID
Option 11D
Option 2 ID
Option 31D
Option 4 ID

Status

1 9489119302

1 94891137206
1 94891137208
1 94891137207
1 94891137205
: Not Answered
Chosen Option :




HeraT B

SXC, PVB, OTA, LRZ, ?

Ans X 1. MXC
X 2 MWP
X 3 KPP
v 4 KPY

Q.100 faw v fykedl # & 3H HeT-THE & 07 HI, A TaAfiaa 4ofr & e frew (2) F wa W oan

Question ID :
Option 11D :
Option 21D :
Option 31D :
Option 41D :
Status :

Chosen Option :

9489119284

94891137136
94891137135
94891137133
94891137134
Not Answered
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